

Office of Procurement Services 8115 Gatehouse Road, Suite 4400 Falls Church, VA 22042

NOTICE OF AWARD

November 4, 2020

CONTRACT TITLE:

Ceramic Clay

CONTRACT NUMBER:

4400010165

NIGP CODE(S):

23241

CONTRACT PERIOD:

November 1, 2020 through December 31,2025

SOLICITATION NUMBER:

IFB 2000003020

SUPERCEDES

4400005518, 4400005519

CONTRACT(S):

SUPPLIER ID:

CONTRACTOR: Sheffield Pottery

1000006430

995 N. Main St

PO Box 399 Sheffield, MA 01257

TERMS:

Net 30

FOB:

Destination

PRICES:

See Pricing Schedule

ORDERING INSTRUCTIONS:

Any county department may create a shopping cart into FOCUS (Fairfax County Unified System) indicating the item/service required, the quantity, the payment terms and the delivery date. The shopping cart must be annotated with the contract number.

Requests exceeding the small purchase threshold will be routed to OPS and a purchase order will be executed.

Diane M. Strickland, CPPB Contract Administrator

DISTRIBUTION:

FCPS – Instructional Services – Aaron Stratten FCPS – Procurement Services – Diane Strickland

PRICING SCHEDULE

Item No.	Item Description	Annual Est.Qty	UOM	Unit Price	Extended Price
1,	23241401365 CLAY, BUFF STONEWARE, 25 LBS, (SECONDARY) CONE 6-8	2000	EA (each)	<u>\$7.89</u>	<u>\$15,780.00</u>
	Light buff at cone 6. Darker tan at cone 10. An excellent blend of medium and fine grain clays to produce a superior throwing body. Compatible with commercial cone 6 stoneware glazes. This clay body has a tight feel for wheel work and can be used for small to medium sized hand built projects. Shrinkage < 11%. Absorption <.92%. 25 LBS per BOX = EACH				
	Standard Spec: Standard Ceramic 153 Manufacturer Sheffield Pottery Stock/Cat.Pg.Nos. MCT3 Catalog Page Number 1 Quantity of 25 lb. boxes per pallet 96 Shelf Life is 12 months Delivery 30 days after receipt of order. (Ref: Special Provisions, Para.13 and 5.1)				

Item No.	Item Description	Annual Est.Qty	UOM	Unit Price	Extended Price
2.	23241401399	600	EA	<u>\$8.43</u>	\$5,058.00
	CLAY,CERAMIC,RED BROWN STONEWARE, 25 LBS, (SECONDARY)CONE 4-6		(<u>each)</u>		
	A toasty, dark reddish-brown stoneware containing native Sheffield clay. Very plastic with the right amount of tooth for both hand building and throwing on the potter's wheel. Shrinkage < 11.5%. Absorption < 0.40% 25 LBS per BOX = EACH				
	Standard Spec: Standard Ceramic 153				
	Manufacturer Sheffield Pottery Stock/Cat.Pg.Nos. MC4D3B Catalog Page Number 1 Quantity of 25 lb. boxes per pallet 96 Shelf Life is 12 months Delivery 30 days after receipt of order. (Ref: Special Provisions, Para.13 and 5.1)				
	23241401381				
3.	CLAY, WHITE EARTHENWARE, 25 LBS, (ELEMENTARY) CONE 04-06	6000	EA (each)	<u>\$8.43</u>	<u>\$50,580.00</u>
	A very smooth, very plastic white earthenware clay body containing ball clay, Texas talc and fine grog. Work well with commercial glazes. Very plastic, stable and forgiving. Shrinkage < 6.5%. Absorption < 9.2%. 25 LBS per BOX = EACH				
	Standard Spec: Standard Ceramic 105 GROG				
	Manufacturer Sheffield Pottery Stock/Cat.Pg.Nos. MCMWSS Catalog Page Number 1 Quantity of 25 lb. boxes per pallet 96 Shelf Life is 12 months Delivery 30 days after receipt of order. (Ref: Special Provisions, Para.13 and 5.1)				

Item No.	Item Description	Annual Est.Qty	UOM	Unit Price	Extended Price
	23241401373				1.11.00
4.	CLAY, CERAMIC, RED, EARTHENWARE, 25 LBS, (ELEMENTARY) CONE 06-02	800	EA (each)	<u>\$7.98</u>	<u>\$6,384.00</u>
	A rich, natural red earthenware clay containing native Sheffield Clay. It is workable, plastic and forgiving, has great color and is good for wheel throwing and hand building. It performs well with commercial glazes. Shrinkage <7%. Absorption <8.5. 25 LBS per BOX = EACH Standard Spec: Sheffield Pottery MCMR				
	Manufacturer Sheffield Pottery Stock/Cat.Pg.Nos. MCMR Catalog Page Number 1 Quantity of 25 lb. boxes per pallet 96 Shelf Life is 12 months Delivery 30 days after receipt of order. (Ref: Special Provisions, Para.13 and 5.1)				
5.	23241401464				
	CLAY, SOLDATE 60, 25 LBS Off-white color; medium, toasty, all round body, fired shrink 12%, water absorption .5 – 1%; excellent for wheel throwing. Cone 10 25 LBS per BOX = BOX	800	BX (box)	<u>\$7.31</u>	<u>\$5848.00</u>
	Standard Spec: Sheffield Pottery MC 112700				
	Manufacturer Sheffield Pottery Stock/Cat.Pg.Nos. MC112700 Catalog Page Number 1 Quantity of 25 lb. boxes per pallet 96 Shelf Life is 12 months Delivery 30 days after receipt of order. (Ref: Special Provisions, Para.13 and 5.1)				
	Annual Estimated Amount of Bid				<u>\$83,650</u>